

$$L\{1\} = \frac{1}{s} \quad L\{e^{3t}\} = \frac{1}{s-3}$$

$$L\{\sin 2t\} = \frac{2}{s^2+4}$$

$$L\{\cos 2t\} = \frac{s}{s^2+4}$$

$$i) 3e^{-4t} - 5e^{4t}$$

$$L\{3e^{-4t} - 5e^{4t}\} = L\{3e^{-4t}\} - L\{5e^{4t}\}$$

$$= 3L\{e^{-4t}\} - 5L\{e^{4t}\}$$

$$= \frac{3}{s+4} - \frac{5}{s-4}$$

$$= \frac{3(s-4) - 5(s+4)}{(s+4)(s-4)}$$

$$= \frac{3s-12-5s-20}{s^2-16}$$

$$= \frac{-2s-32}{s^2-16}$$

$$ii) \sin 4t + \cos 4t = L\{\sin 4t\} + L\{\cos 4t\}$$

$$= \frac{4}{s^2+16} + \frac{s}{s^2+16}$$

$$= \frac{4+s}{s^2+16}$$

$$ii) t^3 + 2t^2 - t + 4$$

$$= L\{t^3\} + 2L\{t^2\} - L\{t\} + L\{4\}$$

$$= \frac{3!}{s^4} + 2 \cdot \frac{2!}{s^3} - \frac{1!}{s^2} + \frac{1}{s}$$

$$= \frac{6}{s^4} + \frac{4}{s^3} - \frac{1}{s^2} + \frac{1}{s}$$

$$= \frac{6 + 4s - s^2 + s^3}{s^4}$$

$$= \frac{s^3 - s^2 + 4s + 6}{s^4} = \frac{1}{s^4} \{s^3 - s^2 + 4s + 6\}$$

a=2, w=s

$$iv) e^{-2t} \cos st = L\{e^{-2t} \cos st\}$$

$$L\{\cos st\} = \frac{s}{s^2+w^2} \quad \therefore L\{e^{-at} \cos st\} = \frac{s+a}{(s+a)^2+w^2}$$

$$v) t \sin 3t = L\{t \sin 3t\}$$

$$\Rightarrow L\{\sin 3t\} = \frac{3}{s^2+9}$$

$$L\{t \sin 3t\} = -\frac{d}{ds} \left( \frac{3}{s^2+9} \right) = \frac{6s}{(s^2+9)^2}$$

$$vi) e^{-t} - e^{-2t} = t^{-1}e^{-t} - t^{-1}e^{-2t}$$

$$f(t) = \frac{-1!}{(s+1)^{-1+1}} - \frac{1!}{(s+2)^{-1+2}}$$

$$f(s) = \frac{-1}{s+2} + \frac{1}{s+2}$$

$$f(s) = -1 - \frac{1}{s+2}$$

$$= \frac{-s-3}{s+2}$$

vii)  $e^{4t} \cos 2t = f(t)$   
 $L\{\cos 2t\} = \frac{s}{s^2+4}$

$$f(s) = \frac{s-4}{(s-4)^2+4}$$

viii)  $t \sin 2t$   
 $L\{\sin 2t\} = \frac{2}{s^2+4}$

Remainder  $f(s) = \frac{-d}{ds} \left( \frac{2}{s^2+4} \right)$

$$f(s) = - \frac{(s^2+4)(0) - 2(2s)}{(s^2+4)^2} = \frac{4s}{(s^2+4)^2}$$

ix)  $t^3 + 4t^2 + 5 = f(t)$

$$f(s) = L\{f(t)\}$$

$$f(s) = \frac{3!}{s^4} + 4 \cdot \frac{2!}{s^3} + \frac{5}{s}$$

$$f(s) = \frac{6}{s^4} + \frac{8}{s^3} + \frac{5}{s}$$

x)  $e^{3t}(t^2+4) = f(t) = t^2 e^{3t} + 4e^{3t}$

$$f(s) = L\{f(t)\}$$

$$f(s) = \frac{2}{(s-3)^3} + \frac{4}{s-3}$$

xi)  $t^2 \cos t$

$$f(s) = (-1)^n \frac{d^n}{ds^n}$$

$$L\{\cos t\} = \frac{s}{s^2+1}$$

$$f(s) = (-1)^2 \frac{d^2}{ds^2}$$

$$= -1 \left( \frac{s^2+1 - s(2s)}{(s^2+1)^2} \right)$$

$$= \frac{(s^2+1 - 2s^2)}{(s^2+1)^2} = \frac{-1+s^2}{(s^2+1)^2}$$

$$= \frac{(s^2+1)^2(-2s) - (1-s^2)(4s^3+4s)}{(s^2+1)^4}$$

$$= \frac{(s^2+1)(2s) + (-s^2+1)(4s^3+4s)}{(s^2+1)^4}$$

$$= \frac{(s^2+1)(2s - 4s^3 + 4s)}{(s^2+1)^4} = \frac{6s - 4s^3}{(s^2+1)^3}$$

xii)  $\frac{\sinh 2t}{t} = f(t)$

$f(s) = \int \frac{2s}{s^2-4}$       $\therefore f(s) = \ln(s^2-4)$

③ i)  $\frac{s-5}{(s-3)(s-4)} = f(s)$

$\frac{A}{s-4} + \frac{B}{s-3} = \frac{s-5}{(s-4)(s-3)}$

$A|s=4 = \frac{4-5}{(4-3)} = \frac{-1}{1} = -1$

$B|s=3 = \frac{3-5}{3-4} = \frac{-2}{-1} = 2$

$\therefore A = -1$  and  $B = 2$

$f(s) = \frac{-1}{s-4} + \frac{2}{s-3}$

$f(t) = \mathcal{L}^{-1}\{F(s)\}$   
 $= -e^{4t} + 2e^{3t}$   
 $= 2e^{3t} - e^{4t}$

ii)  $\frac{2s-6}{(s-2)(s-4)}$

$\frac{A}{s-2} + \frac{B}{s-4} = \frac{2s-6}{(s-2)(s-4)}$

(ABUAD), The Road to Intellectualism, Quality and Excellence

$A|s=2 = \frac{2(2)-6}{(2-4)} = 1$

$B|s=4 = \frac{2(4)-6}{4-2} = 1$

$A = 1$  and  $B = 1$

$f(s) = \frac{1}{s-2} + \frac{1}{s-4}$

$f(t) = \mathcal{L}^{-1}\{f(s)\}$

$f(t) = e^{2t} + e^{4t}$

iii)  $\frac{5s-8}{s(s-4)} = f(s)$

$= \frac{A}{s} + \frac{B}{s-4} = \frac{5s-8}{s(s-4)}$

$A|s=0 = \frac{5(0)-8}{(0-4)} = 2$

$B|s=4 = \frac{5(4)-8}{4} = 3$

$A = 2$  and  $B = 3$

$f(s) = \frac{2}{s} + \frac{3}{s-4}$

$f(t) = \mathcal{L}^{-1}\{F(s)\}$

$f(t) = 2 + 3e^{4t}$

(ABUAD), The Road to Intellectualism, Quality and Excellence



$$y = y_0^0 + x y_0^1 + \frac{x^2 (-2y_0^0)}{2 \times 1} + \frac{x^4 (4x - 2y_0^0)}{4 \times 3 \times 2 \times 1} + \frac{x^6 (18x^2 - 2y_0^0)}{6 \times 5 \times 4 \times 3 \times 2 \times 1}$$

$$+ \frac{x^8 (40x^4 - 2y_0^0)}{8 \times 7 \times 6 \times 5 \times 4 \times 3 \times 2 \times 1}$$

$$y = y_0^0 \left( 1 - x^2 - \frac{x^4}{3} - \frac{x^6}{5} - \frac{x^8}{7} + \dots \right) + x y_0^1$$